Calculate the following determinants of the corresponding matrices

[bookmark: _GoBack]

image1.emf



		



A=
1 2 3
3 1 2
3 2 1



⎡



⎣



⎢
⎢
⎢



⎤



⎦



⎥
⎥
⎥



B =
1 2 3
4 4 4
5 6 7



⎡



⎣



⎢
⎢
⎢



⎤



⎦



⎥
⎥
⎥



C =
1 1 1
1 1 0
1 0 0



⎡



⎣



⎢
⎢
⎢



⎤



⎦



⎥
⎥
⎥



D=
1 1 0
1 0 1
0 1 1



⎡



⎣



⎢
⎢
⎢



⎤



⎦



⎥
⎥
⎥



E =
1 2 3
4 5 6
7 8 9



⎡



⎣



⎢
⎢
⎢



⎤



⎦



⎥
⎥
⎥










		

A

=

1 2 3

3 1 2

3 2 1

é

ë

ê

ê

ê

ù

û

ú

ú

ú

B

=

1 2 3

4 4 4

5 6 7

é

ë

ê

ê

ê

ù

û

ú

ú

ú

C

=

1 1 1

1 1 0

1 0 0

é

ë

ê

ê

ê

ù

û

ú

ú

ú

D

=

1 1 0

1 0 1

0 1 1

é

ë

ê

ê

ê

ù

û

ú

ú

ú

E

=

1 2 3

4 5 6

7 8 9

é

ë

ê

ê

ê

ù

û

ú

ú

ú


oleObject1.bin





